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Question Number : 1 Question Id : 580149701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Ohm’s law is applicable for a:
Options:
1 # non-metal

> % non-linear component

3 « metal conductor

4 % Zener diode

Question Number : 1 Question Id : 580149701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 2 Question Id : 580149702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Which of the following statements is true?
Options:
1« Source transformation of Thevenin theorem is known as Norton theorem.

z %
Any two terminals of a network can be replaced by an equivalent voltage and equivalent series resistance in
Norton theorem.

z ®
In Thevenin theorem, the voltage source is replaced by an open circuit and the current source is replaced by a
short circuit.

4 ®
Supermesh is defined as the combination of two meshes that have voltage source at their boundaries.

Question Number : 2 Question Id : 580149702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 3 Question Id : 580149703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

For an ideal current source, the internal resistance is:
Options:
| « infinite and connected in parallel

> % zero and connected in parallel

3 % infinite and connected in series

4 % zero and connected in series

Question Number : 3 Question Id : 580149703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 4 Question |d : 580149704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

The Superposition theorem is NOT applicable for:
Options:
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% clrcuits containing a dependent current source
% Cclrcuits containing a dependent voltage source

3 « non-linear circuits

4 % linear circuits

Question Number : 4 Question Id : 580149704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

AR FHT e e @ a8t g 82

Options:

i AT aRT §id Jord IRTY
| I Soedt BT Jad TR

4 #® i"@ﬂ?qﬁ'w

Question Number : 5 Question Id : 580149705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

The unit of conductivity is:
Options:
1 ® Ohm-Metre

> o Siemens/Metre
z % Siemens-Metre

4 # Ohm/Metre

Question Number : 5 Question Id : 580149705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 6 Question Id : 580149706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Form factor is defined as:
Options:
. w Average Value /RMS Value

>  RMS Value / Average Value
z % Maximum Value / RMS Value

4 # RMS Value / Maximum Value

Question Number : 6 Question Id : 580149706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 7 Question Id : 580149707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

If Il and I2 are two current sources that are connectad in series in the same direction, then the total current of the circuit
will be:

Options:

1 % I1+1I2
> % I1-12
= % Il xI2

4 « Such a condition is not a valid condition
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Question Number : 7 Question Id : 580149707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 8 Question Id : 580149708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

The polar form of a vector is 20<60°. What is the rectangular form of this vector?

Options:
, » 10+j10.33

5w L5H]15.33

Question Number : 8 Question Id : 580149708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

T HiG F YA T 20<60° F1 FH WY FH ATAER T FAT EEI?

Options:

, % 10 +j10.33

» x 15 + j15.33
. x 15+ j17.33

, o 10 +[17.33

Question Number : 9 Question Id : 580149709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Curie point is:

Options:
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| « the temperature above which certain materials lose their permanent magnetic properties
- % the temperature below which certain materials lose their permanent magnetic properties
- % the pressure above which certain materials lose their permanent magnetic properties

4 % the pressure below which certain materials lose their permanent magnetic properties

Question Number : 9 Question Id : 580149709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Question Number : 10 Question Id : 580149710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The permeability of a vacuum is:
Options:
1 ® [} H."LH

> % 1Hm

5 % 47 % 10719 H/m

4 « 4T % 107" H/m

Question Number : 10 Question Id : 580149710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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.« 4r x 107 H/m

4 v 4 x 1077 H/m

Question Number : 11 Question Id : 580149711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Piezo-electric material converts:
Options:
, w electrical energy into mechanical energy

-  mechanical energy into electrical energy
- % temperature into electrical energy

4 = electrical energy into temperature

Question Number : 11 Question Id : 580149711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 12 Question Id : 580149712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a paramagnetic material?

Options:
1 « Magnesium

> # Soft iron

z % Hard iron
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4 % Nickel

Question Number : 12 Question Id : 580149712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

PR & & Fi SEERT e i

Options:

| v HeAREE

o R ?E?ﬂ%'
3" FB g

4_%%3‘?‘{

Question Number : 13 Question Id : 580149713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a pure semiconductor is heated, its resistance:
Options:

1 ® Increases

> o decreases

3 % remains the same

4 » changes depending on atmospheric conditions

Question Number : 13 Question Id : 580149713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 14 Question Id : 580149714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Ferromagnetism is:

Options:

i

the phenomenon in which on application of a magnetising force, the domains become aligned to produce a strong
magnetic field within the part

2.
the phenomenon of being repelled by a magnetic field; an applied magnetic field creates an induced magnetic field in
them in the opposite direction. causing a repulsive force

z ®
a form of magnetism whereby certain materials are weakly attracted by an externally applied magnetic field, and form
internal, induced magnetic fields in the direction of the applied magnetic field

4 = the phenomenon of getting attracted towards a non-magnet

Question Number : 14 Question Id : 580149714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 580149715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The purpose of an open-circuit test is:
Options:

, w todetermine full-load copper loss

- o (0 determine magnetising resistance

5 % todetermine equivalent resistance
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4 % todetermine equivalent reactance

Question Number : 15 Question Id : 580149715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 16 Question Id : 580149716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A Starter is necessary to start a DC motor because:
Options:
, % DC motors do not have starting torque

> % atstarting, the value of back-EMF is zero

- % initially, high starting torque is required

4  itrestricts initial high armature current that exists, as the value of starting back-EMF is zero

Question Number : 16 Question Id : 580149716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fese amT (B4 AT F A WA F V0 gade F A TET F4 g 82

Options:

e AL AeX F Y Fol-HTg0T Agl grar

i Yaad W, 727 fSegd IEF T (S TA.UE.) F AT Y= T &

HRET H, 3o7 Jadd So-HTEOT $T HNEG9TehaT giar g

5 ®

4 &

TeT faegd aew 991 (S.UANE.) F T 9 W, TF AlSEr IRITF F99 HeFT o # 9faatad wie §


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Question Number : 17 Question Id : 580149717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Single-phase induction motors are motors.
Options:
1 % self-start

- % capacitor-start
5 % capacitor-start capacitor-run

4 « Both capacitor-start and capacitor-start capacitor-run

Question Number : 17 Question Id : 580149717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tehol-shell 90T AT T a8 T Al 27

Options:
LN
1 & <dd. Hdda

o B FﬂTﬁ?—W
5 ® FURA-Fad HeTRE-T@
v TuURE-gTaa 3R guiE-saas gufE-ges aer

Question Number : 18 Question Id : 580149718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 4-pole 50-Hz induction motor has a slip of 0.5. What will be the value of the rotor induced voltage frequency?

Options:
1. % 125 Hz

- % 100 Hz
z % 50Hz

4o 25Hz

Question Number : 18 Question Id : 580149718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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- % 100 Hz
- % 50 Hz

. v 25 Hz

Question Number : 19 Question Id : 580149719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hunting and phase swing is negligible for:
Options:
; u DC compound motors

> % DC series motors
z % DC shunt motors

4  three-phase induction motors

Question Number : 19 Question Id : 580149719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 20 Question Id : 580149720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Aquadag coating is used in;
Options:
1 # Transducers

> o CROs

5 w bridges

4 % multimeters
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Question Number : 20 Question Id : 580149720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 21 Question Id : 580149721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Kelvin double bridge in its basic form is used to measure:
Options:

. w very high resistance

o  Very low resistance
5 w very high capacitance

4 % Vvery low capacitance

Question Number : 21 Question Id : 580149721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 22 Question Id : 580149722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Two wattmeters are used to measure the power in a three-phase balanced load. The wattmeter readings are 8.2 kW and
7.5 KkW. The active power will be:

Options:
1 % 6l5W

> ® 0.997 W
2 ® 0.7W

4 157W

Question Number : 22 Question Id : 580149722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 23 Question Id : 580149723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Voltmeter calibration can be done with:
Options:
1 8 potentiometer

, % afrequency meter

5 % anammeter

4 % aCRO

Question Number : 23 Question Id : 580149723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 24 Question Id : 580149724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To minimise the loading effect of a circuit under test. the input impedance of the device must:

Options:

. w match with the input impedance of the circuit

-  bevery high
5 u beverylow

4 w Dbe capacitive

Question Number : 24 Question Id : 580149724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 25 Question Id : 580149725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The loss angle of a capacitor can be accurately measured using:
Options:
, % Kelvin Double Bridge

- % Anderson Bridge
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- « Schering Bridge

4 » Carry Foster Bridge

Question Number : 25 Question Id : 580149725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 26 Question Id : 580149726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 1-mA meter movement with an internal resistance of 100 Q is to be converted into a 0 to 100 mA range. The value of
shunt resistance required is:

Options:
.o LO1 O
> % 1.001 Q

s % 100

4 % 0010

Question Number : 26 Question Id : 580149726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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4 % 0.01 ©

Question Number : 27 Question Id : 580149727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The type of a system is determined by:
Options:
| « the number of poles present at the origin

> % the number of zeros present at the origin

- % the number of poles present at (—1 + j0) point

4 % the number of zeros present at (—1 + jO) point

Question Number : 27 Question Id : 580149727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 28 Question Id : 580149728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Root locus always starts from:
Options:
i the open loop poles and terminate at the open loop zeros

> % the open loop zeros and terminate at the open loop poles

- » the close loop poles and terminate at the open loop zeros

4 % the close loop poles and terminate at the close loop zeros

Question Number : 28 Question Id : 580149728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 29 Question Id : 580149729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a critically damped system, the type of closed loop poles are:
Options:
, w burely imaginary

> % complex conjugate with negative real part
5 « real, equal and negative

4 % real. unequal and negative

Question Number : 29 Question Id : 580149729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 30 Question Id : 580149730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the gain crossover frequency of a system is less than its phase crossover frequency, then the system is:

Options:
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, w critically stable

5 % unstable
5 « stable

4 % marginally stable

Question Number : 30 Question Id : 580149730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 31 Question Id : 580149731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following conductors is generally used in transmission lines?

Options:

, = Copper conductor

> % Alumininm conductor
z « ACSR conductor

4 w Allofthe given options

Question Number : 31 Question Id : 580149731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

H=RUT T8aT H JHEGN W Fearoiad # ¥ g ot Far amar 22

Options:
, % OH =Telh

T HATH =Telsh
2_5:;3 L%
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- v THLUHE.AT. I

4w ¥ T gl ey

Question Number : 32 Question Id : 580149732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If sag on a transmission is increased, the tension will;
Options:

1 « decrease

5 # lncrease

3 % not be effected at all

4 % sometimes increase and sometimes decrease

Question Number : 32 Question Id : 580149732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfE T HROT W HA H g & af Jard T #4137\ gem?

Options:

| v T
z.ﬁm
o w FFATET TgT

4 w FT AT R el wAw

Question Number : 33 Question Id : 580149733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A synchronous condenser is usually a/an:

Options:
1 #% DC motor

o  over-exited synchronous motor
- % under-exited synchronous motor

4 % induction motor
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Question Number : 33 Question Id : 580149733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Uk go-tichﬁ'ﬁch gafaT 3HGT W F 2T &1

Options:

, » (&€ 9rr (3r.4n) A

i Fa 3afaa gegeniosr Ay (3at-renEes Fwmy Ale)

7 3cdieid %Eo'-llﬁhlrglﬁh HeY (IET-TgEEes ey J3)

3 ®

, « 9O (33FE) AT

Question Number : 34 Question Id : 580149734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pin-type insulators are used for:
Options:
,  linesofupto33kV

> # lines of above 33 kV
z # lines of below 33 kV

4 % lines of 400 kV and above

Question Number : 34 Question Id : 580149734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Rer-ersT & Rggatus! & 39T e e fhar srar 27
Options:

, » 33 kV 7% T aEe

, % 33 kV & T #Hr AEeH
- % 33 kV ¥ &R &1 orEed

, % 400 kV 3R 3T@ F9X & A5

Question Number : 35 Question Id : 580149735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Load-flow solution is essential for:
Options:
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, w designing a new power system

- % Pplanning the extension of an existing power system for meeting increased load demand

= 4
designing a new power system and planning the extension of an existing one for meeting increased load demand

4 ®
neither designing a new power system nor planning the extension of an existing one for meeting increased load demand

Question Number : 35 Question Id : 580149735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

H-9918 FATITH Fas B 3mEas 872

Options:

, « 75 ufFT (el gomelr #r BamsfE & o

AT AN F QW A & T Alser afea o F @FFR & A9 7= F O

- ®

3. v
75 ofFa Jomeh sa= A AufFa R AF @ @ Fe F v Aisgr afFa goner F e @ deer
T & forw

4 B

o dF 7 AfFT JUTeT A HR F ufed HR AR # U e F o Al afFa gomer & REwR &
AT T F e

Question Number : 36 Question Id : 580149736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The power transfer in long transmission lines is limited by:
Options:
il
the magnitude of the voltages at the two ends, the reactance between the two ends and the sine of the angle between the
two voltages

o %
the magnitude of the voltages at the two ends and the sine of the angle between the two voltages

z ¥
the magnitude of the voltages at the two ends. the reactance between the two ends and the cosine of the angle between
the two voltages

4 W
the magnitude of the voltages at the two ends and the cosine of the angle between the two voltages

Question Number : 36 Question Id : 580149736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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I T=RUT gy H AT TTETaIor I WiAg g g

Options:
1w

&l BRI 9T drecdr3T & 9IAT, & SR & a8 Ifaua AT a7 Seearsit & &= F1o7 & a7 (F313)

L« & BRI 9 dreean3tt & 9RATT R a1 Seedtatt & @1 FHI0T F A (A

z B

ar oRt WX dreearst F i@, o Rt & & gfdue 3k o Seeant F @i For F S (Fasa)

, x G BRI 9T Sreeanstt & iAo iR & Seedrst & @19 FI0T F FHedT (FIEE)

Question Number : 37 Question Id : 580149737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a power system, each bus or node is associated with how many quantities?
Options:
1.+ 4

> % 3

Question Number : 37 Question Id : 580149737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

maﬁamﬁrﬁ,mwmm%ﬁwﬁﬁ;ﬁrg}nmﬁ?

Options:
1 ¢ 4

23.33

4 % 1

Question Number : 38 Question Id : 580149738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a load bus of a power system, the specified quantities are:
Options:

. « thereal and reactive components of power
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> % the bus voltage magnitude and its phase angle
- » thereal reactive of power and its phase angle

4 % thereactive component of power and its phase angle

Question Number : 38 Question Id : 580149738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T IS YUl & X 97 & fav Afgse am=mw =7 2

Options:

| v AT F TEafad Ak 9 v

. 97 dreedr 9AT 3R FHHE FHoT FHIU

2.

. « AfFd & areafas gfaara 3R sweH FHor Hor

. AT &1 9o gew T SHFT Fer FoT

4.

Question Number : 39 Question Id : 580149739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a set of negative sequence voltages is applied to the stator winding of an alternator:

Options:
1 ® the direction of rotation of the stator field is the same as that of the rotor

-  the direction of rotation of the stator field is opposite to that of the rotor

-
the direction of rotation of the stator field is opposite to that of the rotor and give rise to an alternating field in space

4 % There is no relation between negative sequence voltages and the stator field and rotor

Question Number : 39 Question Id : 580149739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfE Jearafda @I e Fsoll T HUNHS IeTHhA dlocdl & FHead Sl o] fhar AT ar.

Options:

| T & & qUE H e AT (F0) F guiA Hr feew Fr @ & ael

|, T 87 & Ui # Ren I (1) F ouiE & Rer F Rl @
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3 ®

T & & YOI T TG X (gUTR) F guA Fr far & Redm gl sk sawe (Tue) & searEdr
&7 & gha FHEm

RUTcHe 3efshA dioed IR BT ST T VT A FE TaT Al &

4 ®

Question Number : 40 Question Id : 580149740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In order to design 5 bit comparator, how many output(s) is/are needed?
Options:
1 B |

nJ
8
E]

Question Number : 40 Question Id : 580149740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5 foe gafas #1 Bemsa &= & fow, Faa amseqe #r smawgeswar g &7

Options:
1 = '1

Question Number : 41 Question Id : 580149741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the present state is 0 and the next state is 1, then:
Options:

1 « I=1 & k=don’t care

> % J=1&k=1

z # J=dontcare & k=1

4 % JT=0&k=0
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Question Number : 41 Question Id : 580149741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ife IaATT FaET 0 3T 37Ter 3gwr 1 & ar
Options:

, v J =1 3R k = 3FeTs

sxJ=13T k=1
5 % J = Siegsw HT k = 1
L2 J=03T k=0

Question Number : 42 Question Id : 580149742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

De Morgan’s Theorem states that:
Options:
1 « Compliment of (A + B) is multiplication of compliment of A and compliment of B

- » Compliment of (A * B) is multiplication of compliment of A and compliment of B

5 % Compliment of (A —B) is multiplication of compliment of A and compliment of B

. BN . ,. .
Compliment of (E) is multiplication of compliment of A and compliment of B

Question Number : 42 Question Id : 580149742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& AT FT BT FIAT FEaT &7

Options:
o (A+B)F TFAFTF A B F TF F IO &

(A« B) T W A F W&k 3 B & TF FT U ¢
2_% ™~ ™ o 3

(A - B) FT 9F A & TIF 3T B F TF F 70 g
Z % 5 B ™ 3

L (g)a:rwAa:waﬁTB#qﬁmimm%

Question Number : 43 Question Id : 580149743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Derating factor =7


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Options:

AV
1 ® Al

AP

. AT

AP

= # A

AV
g4 AT

Question Number : 43 Question Id : 580149743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HISRT IO = ?
Options:

AV
1 ® Al

AP

2.« AT

AP

s % Al

AV
E AT

Question Number : 44 Question Id : 580149744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A reverse biased pn junction has a resistance of the order of:
Options:
1 % Ohms

» # Kilo ohms

5  Mega ohms

4 » Gigaohms
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Question Number : 44 Question Id : 580149744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF gaT HFAT pn FFe (Ffe) 7 Fife 1 gfay Zar 2

Options:

1_%33'?“7
> w Topell I

g4 ® ?'f'l'cl'JTaﬂF

Question Number : 45 Question Id : 580149745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Conductivity of pure silicon at 300 K is:
Options:

= = 10-12 o
1 % 588710 S/m

5 o 435% 10 S/m

Question Number : 45 Question Id : 580149745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

300 K 9 12 TRfowesla & =Tererar &1 grefr?

Options:

, % 5.88 « 10712 s/m

5 v 4.35 « 10¢ S/m

2 % 2.2 S/m

4 % 3.85 + 107 S/m

Question Number : 46 Question Id : 580149746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum efficiency of a half-wave rectifier is:

Options:
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| ® 50.6%

5> 40.6%

4 % 40.2%

Question Number : 46 Question Id : 580149746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

37eT-gTeT fesealy #r 3 FgH aTHar fFhaer 2 87
Options:

, % 50.6%

o> « 40.6%

2 % 81.2%

. # 40.2%

Question Number : 47 Question Id : 580149747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unit of mobility u of a charge carrier is:
Options:
1 # Metre/volt-second
7
- « Metre=/volt-second

-
z % Metre“/second

4 # Metre/second

Question Number : 47 Question Id : 580149747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT TEF Fr afasherar p #r s 2l

Options:
1 % Metre/volt-second

5 o Metre2/volt-second

3 ® MetreZ/second
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4 # Metre/second

Question Number : 48 Question Id : 580149748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy of a photon of light is proportional to:
Options:
Lol B

~

- B E=

- % Square root of F

i
|

Question Number : 48 Question Id : 580149748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WISl F Wil & Fall [8es FAETr gl g2
Options:
1.« F

Question Number : 49 Question Id : 580149749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a transistor, the base current is about of the emitter current.

Options:
1 % 30%

> % 10%
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Question Number : 49 Question Id : 580149749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

foralr TIfarEeT # HTUT ORI 3c8ad 9N $r T &Faar g 272

Options:

, % 30%

. 10%
3. ¢ 9%

4 # 2%

Question Number : 50 Question Id : 580149750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If Vj is the junction voltage, in a step graded junction diode, the width w of the depletion layer varies as:
Options:
1 ® R'TJ

g 0

5  Square root of V;j

Question Number : 50 Question Id : 580149750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifg v& TUEE FRA SIS H V) S dloedl § df 3EaTT TWa @ @5 w s 3ean agerd 87
Options:
1 B v._.l

o W VJE

. o Vo F T

Question Number : 51 Question Id : 580149751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Operating point represents:
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Options:
, w Vvalues of IC and VCE when signal is applied

-  Zero signal values of IC and VCE

- % the magnitude of the input signal

4 % the magnitude of the output signal

Question Number : 51 Question Id : 580149751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HaTee fag T gefar 27

Options:

Hohd T e W HR.EL AR A F A

1. ®

s FAE AL AR WS & T Tohd A

- §AYC Hehdl I TATOT

P T &7 IIATT

Question Number : 52 Question Id : 580149752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If RC and RI represent the collector resistance and load resistance respectively in a single stage transistor amplifier,
then AC load is:

Options:
1 # RL+RC

o W RC
5  RC parallel to RL

4.S$R_T_.

Question Number : 52 Question Id : 580149752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

afe 3Er. AR WA Tee =TT TifeEeT 99 H FH: Tage giadre i o gfeker &
yafafoe s £, & voaadt arr g = g

Options:
; % AT + HTH.
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o # 3-I'IT1¢I'

s v HT.US. & FHET HRT.A

g ® HE. U

Question Number : 53 Question Id : 580149753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a transistor amplifier, which capacitors are generally used?
Options:
, « Electrolytic

- % Mica
« Paper

=

4 ® Air

Question Number : 53 Question Id : 580149753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

giferreX Jad & AR T FiF & FOIRT Tgod 2 87
Options:

1"#"'? :JE- ~
-~ % 3H#h
= % ohldla

4 ® BT

Question Number : 54 Question Id : 580149754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following power semiconductor devices has the highest voltage/power ratings?
Options:

1 % MOSFET

> % IGBT

3 « SCR

4 % GTO
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Question Number : 54 Question Id : 580149754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=T # ¥ g o 3= 390 & 3=99F areednariaa frufor 87
Options:

. %« MOSFET

. = IGBT
- ¢ SCR

4 8 GTO

Question Number : 55 Question Id : 580149755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following power semiconductor devices has easy drive and high power handling capability?

Options:
1 ® MOSFET

> « IGBT
s % SCR

4 % GTO

Question Number : 55 Question Id : 580149755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T § O g ofeT =TS 39T § 3T 39 3R 3= afeg y9ud &7 aT 87
Options:

. ® MOSFET

> « IGBT
s ® SCR

4 # GTO

Question Number : 56 Question Id : 580149756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A DIAC is turned on by:
Options:

|  abreakover voltage
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> % a gate voltage

5 % agate current

4 w only TRIAC

Question Number : 56 Question Id : 580149756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF E.3E.T (DIAC) ZERT = & €

Options:

| v FOE=ST Seea

o B fIE'EﬂFc‘T-lT
2 ® fET?-TRT

, % Pad ALIARIE.CH (TRIAC)

Question Number : 57 Question Id : 580149757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of independent loops for a network with n nodes and b branches is:

Options:
1 % n—1
- # b—n

3 ¢ b—n+1l

4 % Independent of the number of nodes

Question Number : 57 Question Id : 580149757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

n AE 3T b @t F Ty FeTd F AT TagT umelt fr gEar a4 gene

Options:
1 % n—1
5 ®% b—n

3 & b—n+1l
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Question Number : 58 Question Id : 580149758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy stored in an inductor is:

Options:

Question Number : 58 Question Id : 580149758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

W H FIRT F=AT F7 Edr 87

Options:

Question Number : 59 Question Id : 580149759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ampere second is the unit of:

Options:
1 ® power
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-  Charge
5 ® Energy

4 % capacitance

Question Number : 59 Question Id : 580149759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ORI U P S 27

Options:

| w AT
o v HTE
5 % FaAr

4 % TRET

Question Number : 60 Question Id : 580149760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Power factor =7
Options:
R

1 B I

SR

B |

oy | g

Question Number : 60 Question Id : 580149760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

alﬁrgvm:?

Options:

|

1 ®
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Question Number : 61 Question Id : 580149761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

While applying KVL, the direction in which loop is to be traced is and following the sign convention is
Options:
., % important: important

- % nostimportant; not important

-  Dotimportant; most important

4 % mostimportant: most important

Question Number : 61 Question Id : 580149761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

s Sreear TEE Tged A FHT, T e H AT T 9T AT AT 8 TR g, 3t foEs
of¥arér Fr 9T FET gl
Options:

L4 L
Hgca oI, Hgca ol

=i HOTaF Fgeaqul; AZcaqor g

i HAEca Ul Fgl; Fcdfde Hgeaqur

Feafe Ageaqur; Hcaltsd Agcaqul

4 %

Question Number : 62 Question Id : 580149762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum value of coefficient of coupling or magnetic coupling coefficient is:
Options:
il

> % 100
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= % 1000

g4 B —10

Question Number : 62 Question Id : 580149762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FIAA IOk IFYAT JGhIT JIA 0Nk H ATARIHA HA F1 g7

Options:
1. ¢ 1

. = 100
2 = 1000

4 # —10

Question Number : 63 Question Id : 580149763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Duality of charge is:
Options:
,  fuxlinkage

, % voltage

2 % current

4 % inductance

Question Number : 63 Question Id : 580149763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

7T i gHdaar 2l

Options:

o el (3fEETg) FAfar

il

o % dlecdl
3_%3 ETRT

4_WW

Question Number : 64 Question Id : 580149764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The probability of having an electron in the Fermi level for semiconductor is:
Options:
1. ¢ 1

, % infinity
5 B 0.5

, w Cannot be defined if the temperature is not given

Question Number : 64 Question Id : 580149764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

BHT T A Foweld g T FHEAT FT 87
Options:
1. 1

E_Wmﬁ

z #® 05

4« IS a7 fear g ar Auiia a@ foear s wean

Question Number : 65 Question Id : 580149765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When damping ratio £ (zeta) lies in between 0 < C < 1, then the circuit classification comes under:

Options:
1 « under damped

> w damped
- % undamped

4 % over damped

Question Number : 65 Question Id : 580149765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

S HFHCA I { (Shen) 0 < (< 1 & &7 g ar g9y F=flewor fres e e 82

Options:

| v T IEEfeT
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Question Number : 66 Question Id : 580149766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The total equivalent impedance of the S domain network, obtained as viewed through the input terminals, is called:
Options:
. w» Inputimpedance

> % Sea point impedance
- « Driving point impedance

4 % Laplace impedance

Question Number : 66 Question Id : 580149766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

$AYE fAAT & ARTR ¥ W AT S SAA Acach FT T HHAT Fioarar gl 1T 2l

Options:

l_ﬁwm

> R

5 Terael wfaerer
4 #® Wumm

Question Number : 67 Question Id : 580149767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Laplace of the response is the same as the system function for:
Options:
| « unitimpulse input

- s unit step input

- % unitramp input
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4 % unit sinusoidal input

Question Number : 67 Question Id : 580149767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& T 3fhar &1 FreaTE JoTel & T & FAA B g

Options:

| o TS AT A
, « $HTe =ROT fAder
. x SIS gaUT fAder

, « THS SUEHT foaer

Question Number : 68 Question Id : 580149768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For h parameters, the condition for svmmetry is:

Options:
1 % hpihpp—hypohy =1

5 o hijhyr—hyshy =1
5 # Dighpp—hyihyy=1

4 % hishys—hyihyr =1

Question Number : 68 Question Id : 580149768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

h AEsT () & ®e, gawaar & Tufa #ar g
Options:

; & h2ih12 - hiphpq = 1

5 N11h22 - hyghy = 1

5 % N12h21 - hithyo = 1

4 % h12hpo - hithyo = 1

Question Number : 69 Question Id : 580149769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following is INCORRECT?
Options:

1% hy;=B/D

o hi»=(AD-BC)D
5 hy,;=1/D

4 B h»=CD

Question Number : 69 Question Id : 580149769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tafef@a & @ #i9 71 o9 22

Options:

, % h11 = B/D

> » h12 = (AD - BC)/D
3 21 = 1D

4 % hp2 = C/D

Question Number : 70 Question Id : 580149770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

8086 has maximum clock frequencies ranging from:

Options:
1 % 5MHz-8 MHz
-~ % 6 Mz - 10 MHz

- % 5MHz- 15 MHz

4 « 5MHz- 10 MHz

Question Number : 70 Question Id : 580149770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

8086 H HTUFdH FTelg HTgled TUH & 87

Options:

. % 5 MHz - 8 MHz

. % 6 MHz - 10 MHz
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- %« 5 MHz - 15 MHz

. v 5 MHz - 10 MHz

Question Number : 71 Question Id : 580149771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In 8086, single step interrupt belongs to:

Options:
1 « TYPE-1

> % TYPE-2
s % TYPE-3

4 % TYPE-4

Question Number : 71 Question Id : 580149771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

8086 H, sl =XUT oI T Taea gl
Options:

. ¢ TYPE-1

. % TYPE-2
- % TYPE-3

. % TYPE-4

Question Number : 72 Question Id : 580149772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The arithmetic operation NEG inverts:
Options:
, « cachbit of a specified byte or word and adds 1

> % each bit of a specified byte or word

- » the least significant bit of a specified byte or word

4, » the least significant bit of a specified byte or word and adds 1

Question Number : 72 Question Id : 580149772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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IO J=ell NEG T &3aT 272

Options:

, v WfesT a5 o1 weE & yAw fae @t wfaeida & 1 S5 gl

, « TAIGSE WIBT A YT F T o€ H FfdalHg HI gl

. x [HIGSE TFE ;N A & FYAGH WU T F Al AT FA 2

, x [HIGSE TFE ;N MG & FYAGH WU T F AleliAd FT 1 ST g

Question Number : 73 Question Id : 580149773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following flags is NOT present in 80857
Options:
1 % Sign

5 w Parity

5 Trap

4 » Auxiliary carry

Question Number : 73 Question Id : 580149773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fraoad & § FIF T weleT (Iarer) 8085 H #Agr grar?

Options:

1. Hige

2_-&3%
3.#21:'-
L w HiTeerr

Question Number : 74 Question Id : 580149774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the physical address if
55:5000
sp:FFEOD

Options:
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Question Number : 74 Question Id : 580149774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

afe

ss:5000

sp:FFEO

g ar &S 9ar (foere wgw) =g #:1

Options:

. % 14FEO
-  15FFO0
- % 25FF0

. v SFFEO

Question Number : 75 Question Id : 580149775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum number of bytes of instructions 8086 bus interface unit consists of is:

Options:

; % 4bytes

> o 0 Dbytes
5 % 8bytes

4 w 10 bytes

Question Number : 75 Question Id : 580149775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

8086 &9 ScihT Sos & Adel & amey Fr 3¥Wwan e Faar g &7

Options:

1% 4 s EE&“
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General Awarenaess
Section Id : 58014923
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58014923
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 580149776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is NOT true about the Shanghai Cooperation Organisation (SCO)?
Options:
, w Its main objective is military cooperation between the members.

> % ltworks towards intelligence-sharing and counter-terrorism operations in Central Asia.

=  SCO is a political and security grouping headquartered in India.

4 % India is a member of this organisation.

Question Number : 76 Question Id : 580149776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TrafafEa & @ #i9 31 aus 5T §9ed (TE.EAT) & 9 H HEY F8r g7

Options:

- SHHT AT 32 HeH & a1 e HEAT e BT ¢

2 ®

Tg 7T v 7 GEar ST W e 3R adware el wfeEt F o w6 w5 g
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Question Number : 77 Question Id : 580149777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which two countries have agreed to institute Coordinated Patrol (CORPAT) as an annual exercise between the navies of
the two neighbouring countries?

Options:
, w India and Nepal

> % India and Afghanistan

z # India and Bhutan

4 + India and Bangladesh

Question Number : 77 Question Id : 580149777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁ?ﬁ&?éﬂﬁﬁ%ﬁﬁﬁ?ﬂﬁ{ﬁﬁawﬁﬁmﬁWﬁsﬂdgﬁ%ﬁﬁmﬁ?ﬁﬁaﬁﬁq@ﬁiﬁﬁﬁ
AGaT & o= aSF 3T FEEa R FEee

Options:

. R 3R AT

. x ¥R 3R e

4 v 9Rd 3R genger

Question Number : 78 Question Id : 580149778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is an initiative of the Indian government to make the country’s youth employable and strengthen
them economically by providing them with meaningful. industry-relevant, skill-based training.

Options:

, w Rajiv Gandhi National Institute of Youth Development (RGNIYD)

- « Pradhan Mantri Kaushal Vikas Yojana (PMKVY)

= % Nehru Yuva Kendra Sangathan (NYKS)
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4 # National Social Assistance Programme (NSAP)

Question Number : 78 Question Id : 580149778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g & a1 N WYF, ICART-TERS TA, FIUF-HART AT ToT FF WEF FT F 3¢ Asag
A e w9 & e afafEe & @ 9 @ ona 'R & gw & @ ve 9w 82

Options:

|, T e TS g R T (3RS 3T A )

o » FAA Flerer e A (eAFSaE)

e AG® AT g WIS (TA.T5.9H.0H.)

, « TSI WASF BN FAFH (THA.0HTH)

Question Number : 79 Question Id : 580149779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state government launched Suryashakti Kisan Yojana (SKY) — a solar power scheme meant for farmers to enable
them to generate electricity for their captive consumption as well as sell surplus power to grid and earn extra money?

Options:
1 % Jharkhand

> % Madhya Pradesh
-  Gujarat

4 % Uttarakhand

Question Number : 79 Question Id : 580149779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

forw v aR & gAufEa e geer (TaFas) gF # B, S Feer & e ow " w5 deen
g, g 39 & & 3¢ 39T gug F T y93ns S 3c0eT A & Y-y @9 &7 ey
el = 3T FAANTT 97 FAE F TeIH S99 AT

Options:

| & FNES

5 % HET 9

3 ¥ 2
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Question Number : 80 Question Id : 580149780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of the National Green Tribunal?
Options:
. = Use of green technology to protect the environment

> % Protecting wild life in protective green houses

- » Making laws for environmental protection and conservation of wild life

4.
Effective and expeditious disposal of cases relating to environmental protection and conservation of forests and other
natural resources

Question Number : 80 Question Id : 580149780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tsdry g TIfSeToT &1 3207 4T 37

Options:

| AR H @ & v g Sle@iEeRr w1 3uhreT

, « TUET A3 & Feg=iaa 1 BT

e TSRO FIETOT 3R o ST & TET0T F AT Fege aaem

4 &

TUTEOT FIETUT HR AT T 3T Wpiaeh SHEIUAT & HIGTUT ¥ HETUS AHGT @ FHEr AR ot Tves

Question Number : 81 Question Id : 580149781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following Indian states was the world’s first and only university dedicated to Forensic and Allied
Sciences established in 20187

Options:
1 % Maharashtra
» % Karnataka

5  Gujarat

4 % Delhi
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Question Number : 81 Question Id : 580149781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T # ¥ &9 ¥ 90T =7 # 2018 # ®ifd= 3k gag 9w & v galda e & 9gar
AR Ay Reafemey wrfa B g

Options:
% HEHI:
2, % hellCeh

3 ¥ 2

4 = Tl

Mumerical ability

Section Id : 58014924

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58014924
Question Shuffling Allowed : Yes

Question Number : 82 Question Id : 580149782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A number when divided by 6, 5 and 4 leaves 4, 0 and 3 as remainders, respectively, and the last quotient is 11. What
will the respective remainders be if the order of the divisors is reversed?

Options:
1% 2,4and 3
5 % 3,4and 2

5  2,3and4

4 % 4, 3and2

Question Number : 82 Question Id : 580149782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T &I &I 6, 5 3 4 ¥ oo &3 W 9% AT 4, 0 3T 3 F9ar ¢ 3t 397 s9%a 11 81
IfE AT & FH & 3odT Y &1 8, ar T9Sg I9HT F4T grer?

Options:

% 2,4 3R3

, % 3,4 3R 2
v 2, 33R4

. x 4,33R2

Question Number : 83 Question Id : 580149783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the remainder when 117 is divided by 7?
Options:
1.1

I~

> ®

Question Number : 83 Question Id : 580149783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I 117° &1 7 ¥ fnfag & srar &, O 9 F2ar 99ar 27

Options:
1. ¢ 1

Question Number : 84 Question Id : 580149784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let x be the greatest number such that when 1295, 8146 and 17207 are divided by it, the remainder in each case is the
same. What is the difference between x and the remainder?

Options:

1 ® 51
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Question Number : 84 Question Id : 580149784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ifeT x 98 991 ¥ 957 IEr ¢ Smd 1295, 8146 3ilt 17207 = Panfeg =@ W T IR o
AT AV 9T gl x 3T 9% F &g 39w F@w 2

Options:

4 @ 31

Question Number : 85 Question Id : 580149785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 1 .1 1 1. 48

el X 2 .

The value of (if fgll 2. if EEE of —is
2 3)0 g BT &2

Options:

1_ ] SG

2 b 6{}

= o 200

4 % 300

Question Number : 85 Question Id : 580149785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1.1 3

1 1 1
2y 3% . F6Ts @ @ T grem?
15 (1—3) of 1= i—'ii.:tf'E

e | 2 z & -1
Options:
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. = 300

Question Number : 86 Question Id : 580149786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the monthly expenses to the monthly savings of Anup is 5 : 3. If his monthly expenses increase by 54% and
his monthly income increases by 46%, then there is an increase of T 4,900 in his monthly savings. What was Anup’s
monthly income before the increase?

Options:
. % 58400

- % 56,400
2 % 50,000

4 v T40.000

Question Number : 86 Question Id : 580149786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FeT F AAF g9 F1 30 AfGe @ & G99 5 : 3 g1 TG 37 AfdF T A 54% H e @
e § 3R 3R Al 31T 46% 9 AT €, af 3aehr Afas 59 A < 4,900 F gfE et gl g @
TR T FT ATRES T e ofr?

Options:

. » T 58,400

, » % 56,400

. » ¥ 50,000

. v T 40,000

Question Number : 87 Question Id : 580149787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average age of all the 120 employees in an office is 34.8 years. 40% of the total employees are male and the rest are
female. The ratio of the average age of male to that of female employees is 7 : 5. What is the average age (in years) of
male employees?

Options:

1 ® 40

o B 41
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3. ¢ 42

Question Number : 87 Question Id : 580149787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T FEET H 120 FHEARE #r 3Ea 317 34.8 a9 §) T FANG A ¥ 40% 7 AR 9w Afgamw
g1 I FAAEr @1 3iEa 3y dik wfeer sEfEr F T g F o 7 0 5 @1 939 FAerar
&r AArET g (I§F A7) FT 82

Options:
3 ¢ 42
Eeasorung
Section Id : 58014925
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 58014925
Question Shuffling Allowed : Yes

Question Number : 88 Question Id : 580149788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Replace p with the suitable option to complete the series.

5.7, 11,13, 17, p; 23
Options:
1w 19
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4 8B 23

Question Number : 88 Question Id : 580149788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T F I A & [T p F v 39gFT @FweT § T8

B 214 198 p, 23
Options:

1. ¢ 19

Question Number : 89 Question Id : 580149789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; ; . 4 , (16x4)—3x4
If *+’ means ‘+°, ‘-~ means ‘=, ‘¥’ means ‘- and *+’ means ‘»’, then find the value of PR
“ o By

Options:
1.+ 0

o B 10
3_ i l:

4 % 16

Question Number : 89 Question Id : 580149789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

uﬁ:+:a:rr3q-sj-:+:, ;_:EFFHES-L+|, ‘X’H?[Hﬁ‘-’ﬁT‘FEFI'}ﬁ?I"X’%,H#M mmm% ;[![

24+8x3+15+1"
Options:
1.+ 0

Question Number : 90 Question Id : 580149790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If in a certain language, CATCHER is coded as ECVEJGT, then how is LEATHER coded in that language?

Options:
1 ® NCGIVGT

> % NGCIVGT
= % NCGVIGT

4 « NGCVIGT

Question Number : 90 Question Id : 580149790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ife v RAPag 9T #, CATCHER & ECVEJGT & &9 & &if2q &ar =rar 2, ar 38 amwr &

LEATHER & @IS &1 gEm?
Options:

.« NCGJVGT
> % NGCJVGT
-« NCGVJGT

4 v NGCVJGT

Question Number : 91 Question Id : 580149791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Parineeta introduced a man to her husband Mukund and said. “He is the son of my father’s sister’s mother’s only son.”
How is the man she introduced related to her?

Options:
1 % Cousin

> « Father
z ® Uncle

4 % Nephew

Question Number : 91 Question Id : 580149791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

o
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Question Number : 92 Question Id : 580149792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following information carefully and answer the question given below.

Following are the criteria required to be fulfilled, to gain admission into any intermediate college (TSRJC) in Telangana
(T.8):

a) The candidate should have scored at least 80% marks in SSC or 70% marks in CBSE.
b) The candidate should have scored at least 60% marks in the entrance exam.
¢) The candidate should be a male and be at least 16 years old. as on 1st June 2000.

d) The candidate should be a resident of Telangana (T.S), i.e. should have been born and brought up in T.S.

In case a condition given above is not satisfied, an alternate condition for the same is given below.

e) If condition (d) is violated, but at least one relative of the candidate is presently staying in Telangana for the last 5
years, then the candidate can be admitted.

f) If condition (b) or (c) is violated, but not both, and the student has a good sports record, then he/she should be advised
to approach the Principal.

g) If both conditions (a) and (b) are violated, but the candidate is ready to donate I 1. 00.000 to the college. then he is
advised to approach the Secretary.

The following case is given to yvou as on 1st June 2000.

Khan has applied for a college in T.S. He was born and brought up in U.P. He was born in 1980 and has an excellent
percentage of 95 in his SSC. He has done pretty well in the enfrance test scoring 65%, and has a close relative working
in T.S. for the past 10 years.

What course of action should be followed for Khan?
Options:

1« Admission can be granted.

> w Admission cannot be granted.

- % The Principal is to be approached.

4 # The Secretary is to be approached.

Question Number : 92 Question Id : 580149792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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et # T 1, 00,000 g1 3= o o0 dOR g, O 3@ afaa
¥ H9F H HT TAE & F1dr gl

frefa@a AAaT 39 1 5[, 2000 = |91 73T &

Tl & S.UH. H Ush Hioll & ToIT 3HdceT hdT &1 3GhT
SeH & UTel-aIoT Y. H# g3 &1 3EH SieH 1980 H g3
o 3R 38 TH.TEAL # 95 weRId A uTed gT & 36
Jaer GUET H 65% 3 UIedl e agd ITol G Rl g,
iR &rog. A v FAE Neder R 10 a6t & F17 & ©@
gl

= & T FE gt Fr FEE # 9ed Far JEr e
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Options:

| v SIfEer femr = g Bl
. » GHEer gl &I 3 T g
o FAETEE ® HOF AT SEr =gl

, % TEE & g9 fhar ser anfgo

Question Number : 93 Question Id : 580149793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the given figure, if the triangle represents graduates, rectangle represents doctors and circle represents women,
then what is the number of those women who are graduates but NOT doctors?

Options:
1 ® 3

2_-%3—'1-

I~

4. &

Question Number : 93 Question Id : 580149793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fw a7 st A, afE P T @ gdT B, U seed @ gar § AR geq Afgemat @ gaia
g, dr 37 Afgemstt & gEw FAT § A T=aF § e siFeT 78 27

Options:
1 = 3
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General English

Section Id : 58014926
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 7
Number of Questionsto be attempted: 7
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58014926
Question Shuffling Allowed : Yes

Question Number : 94 Question Id : 580149794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

He his grandfather’s photo on the wall.
Options:

. % hunged

> % hanged
-  hung

4 % hang

Question Number : 94 Question Id : 580149794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

He his grandfather’s photo on the wall.
Options:
. % hunged

> % hanged

5  lung


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

4 % hang

Question Number : 95 Question Id : 580149795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.
I reached the village bus.

Options:
1 % On

o v OY
3z % in

4 % with

Question Number : 95 Question Id : 580149795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.
I reached the village bus.

Options:
1 #® on

2. v O
2 ® in

4 % with

Question Number : 96 Question Id : 580149796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

The was used as a plate.
Options:
, % banana green wide leaf

- % green banana wide leaf

-  Wide green banana leaf
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4 » leaf green wide banana

Question Number : 96 Question Id : 580149796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

The was used as a plate.
Options:
, w banana green wide leaf

> % green banana wide leaf
-  Wide green banana leaf

, » leaf green wide banana

Question Number : 97 Question Id : 580149797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

His father owns a lot of property: he not worry about money.
Options:
1 « heed

> % must
z % shall

4 % have

Question Number : 97 Question Id: 580149797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

His father owns a lot of property: he not worry about money.
Options:
1 « nheed

- % must

z % shall
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4 % have

Question Number : 98 Question Id : 580149798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

‘We have wasted enough time, let us to business.

Options:
1 % getup

> % getout

- % getinto

4  getdown

Question Number : 98 Question Id : 580149798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

We have wasted enough time, let us to business.

Options:
1 % getup

get out
get into

4 w getdown

Question Number : 99 Question Id : 580149799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

The lawyer has not vet arrived, but I'm sure she will reach.
Options:
, % regularly

-~ % usually

- « eventually
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4 # hardly

Question Number : 99 Question Id : 580149799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the most appropriate option.

The lawyer has not vet arrived, but I'm sure she will reach.

Options:
, » regularly

> % usually
5 o eventually

4 % hardly

Question Number : 100 Question Id : 580149800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Fill in the blank with the most appropriate option.

Measles a dangerous disease.

Options:
1 ® are

5> o IS
= ® were

4 # has

Question Number : 100 Question Id : 580149800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Fill in the blank with the most appropriate option.

Measles a dangerous disease.
Options:

| % are
o o IS

3 #% were

4 % has
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